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FM ASAIR A

HMH 2T CHES USH(UUDDHE/AUHE)
o9 A5 CHET S 2 22U Rk
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
10 AIAHIZ& = 7,000 5,000 2,000
OEAIAHIX SEMEHA 7,000
307 glz2told 5,000 5,000 0
02 PItAaEX 5,000 5,000 0
O3 HHcH ALK 5,000
AN BE 2 79,448 84,448 25,000
AM2S 79,448 84,448 25,000
201 Yeregy) 79,448 84,448 A5,000
01 AtR2&cldl 41,600 30,000 11,600
OXAAA LRESZ(1Y) 20,000
OXFAZAL HAU=(3Y) 21,600
02 =224 37,848 54,448 216,600
OANRAR2E SS23HI 24,448
oxExtE ®7FUl 13,400
HH2HGUI(MSAMEA)(OIEH/DIE 354,127 324,406 29,721
QI 2 339,821 311,206 28,615
S5 oAdl XN& 339,821 311,206 28,615
101 124 H| 302,281 277,246 25,035
01 Jl=2= 141,374 133,277 8,097
©F=3= 130,499
OggHy 78,260
-6= 2,210,900 x2&F « 123 53,062
-2 2,099,800 x1H 123 25,198
OJlsA 52,239
-85 1,710,700 »2H x 123 41,057
-102 931,800 18122 11,182
o0&F2=+¢ 130,499,0002 x1/12 10,875
02 =¢ 34,590 28,262 6,328
ONE=H 7,680
OBl < Xt 40,0003 x6H x 12 2,880
OF2LI=E 20,0003 20 12 4,800
Ostdl==¢ 5,050




A HEARL
. HESIZHI(MSALRA)(IIEHIIE
chol: o2l 2ot (et9l: &2
DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2
Ounsstul 420,790 x3H x4 3| 5,050
OFI=YItar=a 4,680
O20~25= 0] 8+ 110,000& *1H = 12& 1,320
O15~204 0| 8t 80,000& x2H 12 1,920
O10~15= 0| &t 60,000& x2H x12& 1,440
OJl=gfaY 30,0003 x1H =12 360
oREg=zRsY 40,0003 x2H x12& 960
(OPNE=PNEFSEI=] 40,0003 x1Y +12& 480
OAZI2A22Y 7,325 x25A| 2Hx6H 128 13,185
ou==¢g 3,810,500% *4 . 8%+ 12& 2,195
03 JAH=AH| 9,360 7,800 1,560
(©FSELE=paya] 130,000 «6H *12& 9,360
04 nE2B=H| 9,000 7,560 1,440
o6~72 130,000& 3 *12& 4,680
o8= 120,000 *3¥ +12& 4,320
05 "WEZIHYI 13,050 12,437 613
OYEFIHH| 130,499,000 *1/12%120% 13,050
06 JHAHIXIAHI 21,750 20,727 1,023
O It A XAl 130,499, 0002 *1/12%200% 21,750
07 HItEAtH| 3,988 3,800 188
O I AtH| 130,499,000 *1/12%1/30% 11 3,988
08 JIEtAEx 69, 169 63,383 5,786
OHXLE(It3) 69, 169
O¢d= 52,550,000 x1H 52,550
ONEsxg 960
- Xt 40,0003 x1H =12 480
22U =F 20,0003 x2H = 12& 480
OFHZAH| 130,000& 1+ 12& 1,560
OHII 2 &I
49,050,000 *1/12x70%+*1/30% 11 1,050
ONZ 2R 4g
9,495 x25A| 2hx1H x 128 2,849




SM: NEMRA
Hal: #XNSAAY (MSARA)(JIEHIIE)
chel: ol 2| (5l &2

M-8 SRI(310) - MRAY - BeS sl e HlRE2
O&gE=xHl 400,000 x 18«12 4,800
ONXES22E 300,000 1 x12& 3,600
OX MG HRF A 150,000& 18 x12& 1,800
203 HRF&H 3,280 3,240 40
02 ZFJAINHRFEY| 280 240 40
OFSEC W = 40,000& 7 280
04 REA2IHRFEIH 3,000 3,000 0
©15¢l0| ot 250,000& *12& 3,000
204 AP AH| 34,260 30,720 3,540
02 Ag2XxH 30,660 25,920 4,740
O6= 155,000& «2H 122 3,720
or=a 140,000 18122 1,680
8= 105,000& 2 122 2,520
©10=2 95,0003 *1H«12& 1,140
OME2R=+H 300,000 ~6E 123 21,600
03 SHYR+-HEZH 3,600 4,800 A 1,200
ouale sl 50,000 x6 & 123 3,600
|24l 14,306 13,200 1,106
MNe2dg Jl=24 14,306 13,200 1,106
201 ZEH2EH] 7,778 9,800 A2,022
01 AtR2&cldl 6,500 8,300 21,800
OFA2Y AR 2l 6,500
02 22324l 1,278 1,500 A222
ORA2E =244 1,278
202 Oddl 6,528 3,400 3,128
01 =LAl 6,528 3,400 3,128
ORfN2E =U0b 6,528




